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Questionl:-Which of the following statement/statements about the Punnapra-
Vayalar Agitation is/are correct?
i. It was a violent confrontation between the British police and the Travancore
State

Congress workers.
ii. Itresulted in the establishment of the first Communist government in India.
iii. Against to turn Travancore into an independent state with American model.
iv. It was supported by the Indian National Congress as a part of the Quit India
Movement.

Yetreorigm-euwieomy GumpmlLib upidlu eeumid sapm/idsmssaticy ergl sfluimeng)?
i Qg Wflligey sreud gapularme@h Slmellsmmban wrbleo srhidlrev
QgrenTL_r&ERsE0D Qe Cuwrer eustipann Gomse.
i. @& @BHwurele (P Shualev ATFTHRISGSMS VSTIAEGS ULlel @S5S
iii. Smellsmhgny 6wflés wrSflujLer e &SHST BILNs LIHNICUSDHE TS Frer
Gumym_Lb
iv. GeudreneruiCer GeuellGCum @uwsssHlen e u@GHwns @bdHlw Caslw
STRIFTEVTED A4S FeHSLILIL L g).
A:-Only i and iii
I HmID iii (D
B:-Only iii and iv
iii omIb iV L (HIb
C:-Only iii
i Qb
D:-Only i and ii
i LOHMID i (LD
Correct Answer:- Option-C

Question2:-Which of the following statement is/are correct about the Kallumala
agitation in Kerala?
i The Kallumala agitation was for the right to wear any ornaments like others.



ii It was held at Perinad in Kollam district.
iii The agitation was led by the dheevara community.

Cararmeiled BLb& Hananels Gurpml b umdl Gemeumd sgapmisetied erg/eTaney
Fflumeng)?
i sogIame CUTTTLLLD wHmeUFsHeer CLITE) eTHS <,LITERTRISEETULLD <{6wtuLb
2 fleno&sTs Q) (HHSS)-
i @ Csreed wrell L gl o erer CUfpmge peoLGLDDE.
i @bslt Cumpri_L b Seuym (dheevara) sepssdlenymed pLSSLILILL g).
A:-i, i and iii
i, il LOmID iii
B:-Only i and ii
i LOHMID i L (HLD
C:-Only i and iii
i LHmID iii L (WD
D:-Only ii and iii
i LHmID iii L (LD
Correct Answer:- Option-B

Question3:-Which of the following pair is NOT correctly matched?
Gemeumid Cepmigsatley ergy) sflwimgl Cummbgelldane?

A:-A. Indian Opinion 1. Mahatma Gandhi
A @BSu smEs) 1. wargwr snHs

B:-B. Kesari 2. Balagangadhara Tilak
B. GCsal 2. UTSBRIGTST sy

C:-C. Jai Hind 3. Subhash Chandra Bose
C. Ogu adlps 3. suney By Cumen

D:-D. Chittagong Armoury Raid 4. Bhagat Singh

D. &llLamm <yiofl Qru@ 4. usg Sm

Correct Answer:- Option-D
Question4:-Match the following personalities of 1857 revolt:

A. General Hugh Rose 1. Recapture of Delhi

B. John Nicholson 2. Commander in Chief of Central India
C. Khan Bahadur Khan 3. Rai Bareli

D. Maulavi Ahmadulla 4. Awadh

1857 & Slerpsfludlerm 1Gemeu(md <y @pendsEameTl CUmmss)s



A.  Gmearre ands Grmev 1. QLevelerw SeT(HLD sLLHmISOD
B. sgmen blésaaen 2. wssu @idwureler Fenaamns Herdl
C. &mem LS SHrem 3. gmd uGred
D. Gwerewall amgicer 4. S6us
A:-1,2,3,4
1,2,3, 4
B:-2,1,3,4
2,1,3,4
C:-1,2,4,3
1,2,4,3
D:-2,1,4,3
2,1,4,3

Correct Answer:- Option-B

Question5:-Match the following:

A. Kandam becha Kottu 1. J.C. Daniel

B. Vigathakumaran 2. K.K. Arur

C. Balan 3. First Malayalam colour movie
D. Neelakkuyil 4. Satyan

Yereu(meuameupeanmll GUMmSG :
A, sarLd Qugest Qarl_(h 1. Cg.8. CLaflwe

B. d&lss@womyen 2. C&.Cs. oiemiy
C. umee 3. (PSS OEMGWITET &EIf LIL_LD
D. Bas@uid 4. sSwen
A:-1,2,3,4
1,2,3,4
B:-2,3,4,1
2,3,4,1
C-2,1,3,4
2,1,3,4
D:-3,1,2,4
3,1,2,4

Correct Answer:- Option-D

Question6:-Assertion (A) : The Reign of Terror was a period during the French
Revolution characterized by extreme violence and mass executions.

Reason (R) : The Reign of Terror was initiated to eliminate counter-
revolutionaries and protect the newly established Republic.

auadymsse (A) @ Seily custapeny LHMID ClEUEGHET LOFERTSETL_EHGITSHETTE)
auansLIL(hSSLILL L 19CTERs LYyl fuller Cumg LwWBIgFeurs <4l & smelb.



smrewrd (R) @ erdlyuyrlfluneryseaner eflsseab, LUHsTs Bimeulitil L Gl urensL]

UMGISTESa|D LIWBISTeUTS L& G migliul L g.
A:-Both (A) and (R) are true, and (R) is the correct explanation of (A)

(A) bpmIDd (R) @rarHib 2 eawreno, Coaibd (R) eremuig (A) @er sflwimer clerdsd
B:-Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(A) bHmID (R) @raTHIb 2 awreno, yermed (R) erarig) (A) @6 sflumer eleTésd S
C:-(A) is true, but (R) is false

(A) 2_awreno, yermed (R) seupmeng
D:-(A) is false, but (R) is true

(A) seuprengl, ermed (R) o_ewrento

Correct Answer:- Option-A

Question7:-Match the following dance forms with their unique features:

A. Kathakali 1. Enchanting dance with gentle, flowing movements.
B. Theyyam 2. Martial art form known for its agility and combat
techniques

C. Mohiniyattam 3. Ritualistic dance form Invoking deities
D. Kalaripayattu 4. Classical dance-drama with elaborate makeup and
costumes

196Teu (LD [BL_6IT GUIq GUBIGENET {eUDMIET S6TSSIEILDTET | DEMBISEHL 6 Ol LIT(hES6LD:

A.  sgsal 1. QeTebwneT, LD Sen&e|s@hL el dnlqll &H6l(hLd
IHL_GOTLD
B. Qsuwibd 2. smismidiy wHmibd Cury BILUBSERsE duwi Cubm

SDSETLUL| SNV 6lgeULD
Coradlelwm’Lid 3. CSUEIBISMET ADLPEHGLD FLHIE, HLET 6llgelld
semiluw’(h 4. olfleurer eliLienen OHMID 2 6L &(EHL 6T Fo.lg Ul

LmrbUflW L6 BT &LD
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Correct Answer:- Option-D

Question8:-Which of the following statements is/are incorrect regarding the
Olympics?
i. The Olympic Flame is lit in the host city and then carried to the opening



ceremony of
the Games.
ii. Jesse Owens won four gold medals at the 1936 Berlin Olympics, which took
place during
World War IlI.
iii. The first modern Olympic Games were held in Paris, France in 1896.

e bLAG GGTLTuTE emeuHd MEamssailed ergl/cTenel seupreag)?

i, @albs penLQumid BEfle abG &L gnil, Weran elenemwuim’_(H
Qar_s&s edlipreliin@ arem(® GFoeliLihSng.

ii. @newrmb 2 esliGurier Cumg pLBE 1936 -6 Cufeilen eallblissle Caeven
GQEUGTEN BTENE SBIGL LSSSHmIGET Cleuemmy.

iii. wpge peierm eallbiis Cumigsdr 1896 @b Wymendler urfladld BevLGubHDE

o A i

i, i, iii

o B

i, ii

C:-Only iii

i LU @b

Correct Answer:- Option-A
Question9:-Match the following:

A. Kerala Panineeyam 1. Political Novel
B. Parappuram 2. Malayalam Grammar
C. Anjadikal 3. Detective Novel
D. Bhaskaramenon 4. Bala Sahityam

Yemeu(meuemeuneanmil QUMHSSIS
A. Gsrer umenfleiwid 1. Qurelig&se mreue
LrlymLd 2.  LDEMEWTET &lFmiy

S| (EHTFIq H6IT 3. 140Ldiqeu Breud

o 6o w

LIme & rGLD cTeoT 4. ure sradlswid

A:-1,2,3,4
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Correct Answer:- Option-B

Question10:-Which of the following was a major theme of the United Nations
General Assembly's 78th session in 20237

2023 @eb gadlw prhsaflen Gurgd gemuuien 78cug jwielley Merelmouamaumdle crg
PSS W smUCUTmeTTS @)(HHSS?
A:-Nuclear disarmement
AT PSS GODLIL
B:-Rebuilding trust and reigniting global solidarity
BGEmsmW WBaET(HL FHLBSSIS® WwHMID 2 serTellu ehme et Wer(Hib
2_(IH6UITE GG 6D
C:-The refugee crisis in Europe
sGrriiumelley gdlser Clpmesly
D:-Space exploration
ferblouafl < uia]
Correct Answer:- Option-B

Questionll:-The concept of the 'Great Divide' in Indian geography is often used to
demarcate regions with distinct climatic, hydrological and ecological
characteristics. Which of the following factors, apart from the Vindhyan Range, has
significantly influenced the formation and evolution of this divide?

@nHw yaludwaedle 'Gumbidere| eremm sm&g GUBLLUTEID GeucuGoum srablena,
Blwe wHmbd &HmIFG:PD LamTLsmars CararL Lgdaamer Ufés LweaTLhSILOE DS
Mgl enes QgTenrs saily Wemeumd srreantseafey erg @\hs Gfleller 2 (Hourssn
Hmb uflenmo cuerfdfuled GALULESE8 sTéassams ThUbhdS WdTerg)?

A:-The Deccan Trap Volcanic Activity
QLgsmer Lyml erflioeme Ggweum()

B:-The Himalayan Orogeny
alrewer Crmtlene

C:-The Ancient Tethys Sea
uamenLw GlLdlev HLed

D:-The Quaternary Glaciations
@eurl_ el Leflliumenmaer

Correct Answer:- Option-A

Questionl2:-The Indian monsoon is a complex system influenced by various factors.
Which of the following teleconnections, apart from the EL Niflo-Southern Oscillation
(ENSO), significantly impacts the Indian monsoon rainfall?

@Sl Lmeuwealp LGalm sTranilgeTmd STasliL(D 6h SHasorer enwlurgb. EL



Nifio-Southern Oscillation (ENSO) sefly, emaumd Cgmenaw CsmfLgetleh erg @ bSlwl
LI(H6U DenLpenl SemilFons LImSl&@Lh?
A:-The Arctic Oscillation
ATSl45H DIME6
B:-The North Atlantic Oscillation
UGG L_QITETG & HHEVE
C:-The Indian Ocean Dipole (I0OD)
@St umrsLd® @ mipearenud (I0D)
D:-All of the above

CuGe 2 6TeT SenarsgID

Correct Answer:- Option-D

Questionl3:-The laterite soils of Kerala exhibit distinct morphological
characteristics. Which of the following pedogenic processes, in addition to
desiccation and contraction-expansion cycles, contributes significantly to the
formation of laterite profiles?

Carermeller Govl L enL ewr Seflggieinmer o (Heualed Lamysamer GeuailiLBhggSns.
Gemeumid eThE QUG TEnals CFwepannser, gnhsors euml & HMID HHESLD -
lfleunss spnélser, Cool Lyl allqeubisamar (LifooLILie)) o (heuT&HE@HeUSN S,
GOUAL_5555 LkigetlienL eupmkI@dlemmen?

A:-llluviation of clay minerals
seflenr seaflhigater elerECHHmLD

B:-Lessivage of iron and aluminum oxides
@@L HMD SQdlalud ysmahseaflar Gampey

C:-Salinization
o i Bif

D:-Podzolization

CurCevreneGaagen

Correct Answer:- Option-B

Questionl4:-The Western Ghats of Kerala are a biodiversity hotspot. Which of the
following geological periods is considered crucial for the evolution of the unique
flora and fauna of the region?

Cararmedlen Con@s Csm_i&sl wepeser LdaudlT CLIMSSLD Hlanmhs @)L DmELD.
ereumd LHallulwed srev 9fle|sefled 6Tg) SNSEHIGULTET STEITBIGET HMID
lemdlamgeafier Liflewrmo eleTi&SlsE (Ppa&HWLTaSTSES SMHSLILOSDG?



A:-Cretaceous
Qg GCLAwien

B:-Paleogene
CuadGuimaler

C:-Neogene
Bl Gwiredleor

D:-Quaternary
GeurL_L_jefl

Correct Answer:- Option-B

Question15:-The onset and withdrawal of the Indian monsoon are influenced by
various factors. Which of the following atmospheric phenomena, apart from the Jet
Stream, plays a crucial role in the monsoon cycle?

@BSlw LimeuweaLp G _mi@Geugib (pigeugibd LUdGaum srreautsermed LUTS&sILHE DG
QgL el fib galy, emeumd cuaflem e Blaspeaisaia ergl, LimauwenLp Hpnélufed
WS W L@ audlsSng)?

A:-The Intertropical Convergence Zone (ITCZ)
GeuliLl ewTLev g(pmIGeearTliL ewrLebd (ITCZ)

B:-The Tibetan Anticyclone
HugHw oy 6mg anasGarme

C:-The Indian Ocean Low Pressure System
QB Hu@ES O G@DhES 2i(9ss el

D:-All of the above

CuGe 2_6TeT SenarsgID

Correct Answer:- Option-D

Question16:-The Western Ghats are characterized by distinct altitudinal zones, each
with its unique ecological characteristics. Which of the following altitudinal zones is
primarily associated with the cultivation of cardamom in Kerala?

Coh@s CsTi&s EnESET S6rllsgIeILDmen 2 WIFLDTET LOEHTL (OMBISETTE)
auansIL(HSSLILHSTnar, eeubleumammid g6 SellSSHeUDTET &HMIF@LHE LIGTL|SHEn6Ts
Qamer(heTerear. YemeuHDd 2 WIFLMET T dbdle 6Tg Cagermelled ered&EHmul Fm@ Ly L 6
(PSATOLWITS CGTLTL L WIg)?

A:-Lowlands
STLPIBl GO MBI 6T

B:-Midlands

WO e meTL_6v



C:-High ranges
2 W GUIFDL&ET
D:-Nilgiri plateau
Boodlfl Lol
Correct Answer:- Option-B
Question17:-Which of the following tax is not subsumed with GST?
Yemeu(mLd euflsatich 6T ellereiq UL 6T @)enemT&sLILL 6lcenan?
A:-Excise duty

FOmed el

B:-Service Tax

Gaeneu auifl

C:-Basic Customs Duty
Sl LILIGHL &IBIG GUIf]

D:-Purchase Tax
QamaTpged auil

Correct Answer:- Option-C

Question18:-A company hires regular services mostly from external sources or from
other countries is termed as:

& Bimieuad aupssorer Caaneugaer GlLBLUTID Gleuert ppemiger eag L9m
prisalld Q@b Lailwwisgdng.
A:-Outsourcing
e _Caryslm
B:-Privatisation
enreul iy engCag e
C:-Offshoring
Do oL IGaGTIIm
D:-Disinvestment
lg- V@) 6516l euiev LGl Lo 6B
Correct Answer:- Option-A

Question19:-Which of the following is an example of Zaid crops?
Gemeumeuameummled 6Tgl SIS LU THEHEE 2 STrenTid?

A:-Barley
Limyedl

B:-Watermelon



S Femnf]
C:-Sugarcane
&(THLDL
D:-Turmeric
LD (@h&GIT
Correct Answer:- Option-B

Question20:-Which one of the following is not an example of ferrous metallic
minerals?

Yemeumeuameummley 6Tg @ HDL 2 Cess SallDmISEHEE 2 STTETLD j60e)?
A:-lIron Ore

QIGIIETL
B:-Chromite

&Crmenol
C:-Bauxite

LIMTSHeHFL_

D:-Manganese

LDITTBI G016k
Correct Answer:- Option-C
Question21:-Which of the following is the refinancing financial institutions in India?
Yemeumeuameummled @bdlwmadley mibldwefliiy Bl& Blmeuemd erg)?
A:-Tourism Finance Corporation of India
Gpdw spmer B8 spsid
B:-EXIM Bank
EXIM curid)
C:-Industrial Development Bank of India
@B Qgmde aleTiFsl eumidl
D:-National Housing Bank (NHB)
Cadlw &l (Hougd) auridl (NHB)
Correct Answer:- Option-D

Question22:-'Vocal for local' initiative under Aspirational Blocks Programme is
launched by :

< evliCragare ermaen S gdler Ep 'Caumdse «oLmy Candsd' CQsm_&sLb
Qam_migslul L g

A:-MGNREG
MGNREG



B:-NITI Aayog
NITI <=,Cwirs

C:-UNICEF
UNICEF

D:-PMKVY
PMKVY

Correct Answer:- Option-B

Question23:-Consider the following statement about Union Public Service
Commission and select the correct option given below:
i. The Chairman and other members of the Union Public Service Commission shall
be

appointed, by the President.
ii. They shall hold office for a term of six years or 65 years of age, whichever is
earlier.
iii. They can be removed by the President on the advice of the Council of Ministers
headed

by the Prime Minister.
iv. The Commission shall present the annual report to the President of India.

weflwer uliefls #feien sullager LpHlw WemouHD SDsmEmWLs HHESHL Carark, ECL
Qarhssiul_(erer sflumer eNmULSmss CHiboOlSHES6LD.
i welwuer uleflls sfeiey sWllagaian senaeul O WD o miiGeamsar
syardudlwimed HluOEsILHeuTTser.
i, euTser m Y aT(H&HET Db 65 auwigl cuamy, Qeunmlad (PFHeoTeusTs 6T Ceou
S LGl eudlliLmyser.
iii. YysLF saoenbullemer DamEFTsH6T @ (paden <,Corganaruier Cuifle
SleUfE6T maEmALSILTD BEsLILL b,

V. enemrid QhSs Gl TsHS Sl LD e Dsmaam Sefld@Lb.

B:-Only i, ii and iii
i, il oHmLD iii I (HLbd
C:-Only i, ii and iv
I, i LHMID IV L (KD
D:-All the above i, ii, iii and iv
CuGev 2 6mer SjemenggILd i, ii, iii Hmid iv
Correct Answer:- Option-C

Question24:-Which of the following is incorrect regarding the election of the
President of India?
i. Heis indirectly elected by an electoral College.



ii. The electoral college consists of the members of Parliament and Legislative
Assemblies

of States.
iii. Proportional representation by means of single transferable vote is the method
used.
iv. Article 56 provides for uniformity in the scale of representation of state in the
election.

@B GLwLrsEs sty Caisd CerLFurs Werelmeuaeundle) 6Tl Seuprerg)?
i el @ Cais seoamilwmd wannpsors CsibblsHssuuG S nmy,
ii. Carse seamfl BrLm@Epwerm wHmD wrblemksefler &L e
2 mukerisemens Glgmenr(heTarg.
iii. efdlgrgsmy eller&speanm HEOD LTHDSHES UTEH®E CPOLOTS
o LGWrdlEsLLHFHDg)
iv. slLlfle) 56 Gaigeled wrblosms @GMEGD areille Frmer serenoami
UPEIGE DS
A:-Only ii and iv
i LHDID IV L (HLd
B:-Only i, ii and iii
I, i O i (KD
C:-Only i and ii
i omID ii L (HLd
D:-All of the above i, ii, iii and iv
CuGev 2 6mer SjenenggILd i, ii, iii Hmid iv
Correct Answer:- Option-A

Question25:-Which of the following are correct regarding 52nd Constitutional
Amendment Act of 19857
i. Itis related to anti-defection law.
ii. Inserted 10th Schedule in the Constitution.
iii. Question of defection is decided by the presiding officer of the house.
iv. Anindependent member is free to join a political party within six months from
the date
he took his office.

1985 @leir 52 augy pflwevenolilg Hmsss UL b Csrruns Yereumeusmeundled 6Tg|
Fiflwmeng,?

i @g elese sHLLE L SgIL 6 QFTLTLienLwig)

i, Srfluoamolibe 10 aug S|l Lcument QemerEsLliLIL L g).

iii. efevger upMus Caeredl, Djaneuuien Fameventd Flsmifluimed

SrwraflssliLbhng.



iv. @m &Cuims o muberns euf LHelCuDm Bretledl(mHg <M LDTHEISEHEE6T
craflans rFlwued sl fulld Careomibd.
A:-Only i, iii and iv
i, il LHmID iV L (HLDd
B:-Only i, ii and iii
I, il oD iii I (HLbd

D:-All of the above i, ii, iii and iv
CuCe 2 6TeT SemansgIid i, ii, iii HmLD iv
Correct Answer:- Option-D

Question26:-Consider the following statement about Money Bill :

i. Article 110 deals with money bill.

ii. Money bill can be introduced by either house of Parliament.

iii. The speaker decides whether a bill is money bill or not.

iv. Rajya Sabha has to return the bill within 14 days with recommendations.

Which of the following statements given above is/are correct?
uewr CETET LuPHHlL G6meuHd SiPlEemsemws Seailmiger:
i. &gl 110 uenr LCFTHTMEUE GHDEH D).
i, weoor LD@&rrg,rrm@J uemm@&rrg,rr D6 D|VG] BITLT(EHLOGITMNSS TV
2ABlepsinGSsILGSDS)
iii. e WCsTHT Liewr LCFTHTET, @QOEOWIT cTaTLIENS FLUMBTLST (Plg6| CFlieuy.
iv. grqweur wGsrgrenet 14 Brls@Ens@er Lflbgienraener Smrlkl e
Couant(hLd.
CwGo darhssiul(herer Memeu(mHbd ghmigeated ergi/cTeneu Fflwimerg)?
A:-Only i, ii and iv
i, il O iV (KD
B:-Only i, iii and iv
i, il HmID iV L (HLDd
C:-Only iii and iv
iii oo iV L (HIb
D:-All of the above i, ii, iii and iv
CGev 2_6mer SjenenggILd i, ii, iii Hmid iv

Correct Answer:- Option-B



Question27:-Consider the following statement:
i The right to issue writs for the enforcement is provided in Article 32 and 226 of
the Constitution.
il Under Article 32 Supreme Court can issue writs for the enforcement of
fundamental
rights and for the redressal of any injury or any illegality arising out of ordinary
law.
iii Under Article 226 High Court issues writs only for the enforcement of
fundamental
rights.
iv. The right under Article 32 can be suspended only during the proclamation of
emergency
laid down by the Constitution under Article 359.

Which of the statement is/are incorrect?

ledreu(mLd SIMESMSMUISG &6v 6T L BISET:

i Srflweewlnder &L Lildfley 32 womid 226 eug) 9fleysefler jeTESSS M TET
flsamer Celaflud(eushsrar o flano auprisiiLBHEng.

i el 9fley 326a &1, 2 &g BHwemmid SiqliLienL 2 flepgamar
SIDOTEGUSDGD, FTHTIa &L SH @B eT(PLd STD Aevag TFCHeLD
UL gEn@ Yowbuns Hleufss Qeleugn@d flsamer Geuefludl_eomibd.

il 96y 2266 aQQLVD Sllg LIl 2 FlenDSameT LMS@GeusNaTs L (HGLWD
o> wFBHwearpbd fsemer GouaflulHmg.

iv gL 19fley 359 Qe S1p @rflweenliLimed eu@ssluLl L Sjeudhleana
GpsLangden Gumg w HCW el 32 Ger Sip 2 crer 2 Flanwerw HMSH eneuss
Pl ULLD.

ThS/eTenel HDGMS SeumTeng)?
A:-Only ii and iii
i pmLd iii L (HLbd
B:-Only iii and iv
iii omb iV L (b
C:-Only i and iv
i LOHDID IV L (HLDd
D:-Only i and ii
i LHMID i (LD
Correct Answer:- Option-A

Question28:-Article 20 provides protection from conviction for offence in certain
aspects like the right against



i. Ex post facto laws

ii. Double jeopardy

iii. Preventive Detention
iv. Self-incrimination

slL19fe] 20, erdlpmer 2 _flenn Cumenm e jbsmigetled &HmESDHamen
sanrL_enaruiledl(mhgl LTgISTremU allpBIGEng.
i er&en GUTEVL. o oLITEGLIT Qe
i, Lyer ) Guiruimiyig
iii. fGleueg el smele
V. &W-@OHoFsm(H
A:-Only i and iv
I oo iV L (HIb
B:-Only i, iii and iv
i, iil HMID IV L (LD
C:-Only i, ii and iv
I, i LHMID IV L (YLD
D:-All of the above i, ii, iii and iv
CuGov 2_6mer jenenggILd i, ii, iii Hmid iv
Correct Answer:- Option-C

Question29:-Which of the following are the recommendations of L.M. Singhvi
Committee?

i. Constitutional recognition of Panchayati Raj Institutions.

ii. Official participation of political parties at all levels of Panchayat elections.
iii. Establishment of Nyaya Panchayat.

iv. Establishment of Judicial tribunals in each state.

Yereu(meuemeummdled erev.erd.Slmiell sl iquiler LfiBgiemrser wrenel?

i uepETwsg Ty Hlncuambiseilen oiFflueebliL) HRESTLD.

il. uEpsFTWSEH CorEatlan SeneaTsg Sormigailabd Hrfluic sl dlgeatlen

SSlarriiel unGspL.

iii. Blumu uEpsTLS®S Bimese.

iv. @eu@eurm wrlosdabd EHsgienn BhHeuf waprisamer Hlne s,
A:-Only i, ii and iv

I, i LHMID IV L (YLD
B:-Only i, iii and iv

i, il HmID IV (D



D:-Only i, ii and iii
i, il womID il I (HLd
Correct Answer:- Option-B

Question30:-Which of the following committees are constituted by the Constituent
Assembly to report on the various Substantive aspects of the Constitution?

i. Union Powers Committee

ii. Drafting Committee

iii. Provincial Constitution Committee

iv. Committee on Negotiation with States.

Srflweenliber LeGeum gl SjbamigemeT s LHMl <iHléamasudl(HeusnE
STFWOELILIEF FELILITGD OSSILL(NETOT G(LSSH6T 6187
i wellwer LeuFen Sl Ig
i, euenTeys G
iii. reTewT < FFuanbliL @
iv. wrblenisEpeame CLEHFUTTSMSESTET &(LD
A:-Only i, iii and iv
i, il OHMID IV L (LD

C:-Only i, ii and iii
I, il womD il I (HLbd
D:-All of the above i, ii, iii and iv
CuGev 2_emer SjenenggILd i, ii, iii OHMID iV (b

Correct Answer:- Option-D

Question31:-Which of the following statement are true about Saksham App.?
i. Launched by the State Election Commission, Kerala.

ii. To make elections more accessible and inclusive.

iii. Ensuring the active participation of PWDs in the election process.

iv. Can be used only by the existing PWD voters.

Fangld Gawelenwitt updlw GemeuHD FmDHMmISaTd 6Tgl 2 arrentn?

i.  Gsryer wrblo Caiz0 e Ted CFTLmISLILILL ).

ii. Caisame CL@ID HemIsddnlqLISTHED 2 GTeTLSSHUSTHE|D 2 (HeUTEHEGS®.

iii. Cgige Gewudumiped PWDs umiCapueang 2 md Cauige.

iv. gnCurgierer PWDS curgsmerjserme L (HGW Lwer(hiSs (LplguLb.
A:-Only i, iii and iv



i, iil OHMID IV L (LD
B:-Only i and iii
I omd i (LD
C:-Only ii and iii
i mmid iii I (HLbd
D:-All of the above i, ii, iii and iv
CuGev 2_6mer SjenenggILd i, ii, iii Hmid iv
Correct Answer:- Option-C

Question32:-Who are the permanent invitees of the Kerala State Planning Board?
i. Chairman, State Finance Commission.

ii. Chief Secretary, Government of Kerala.

iii. Additional Chief Secretary, Revenue Department, Govt. of Kerala.

iv. Additional Chief Secretary, Finance Department, Govt. of Kerala.

Caper wrblev S aurfliugSlen HFBEST HenLPLILITETFSHET WTj?
i. geveeur, wrble Bl yememTuiibD.
ii. seweewd CFwerery, Carer o7a.
iii. (b gamevenod ClFwemeTy, cUmeumls glevm, CEHTeT irs.
V. g(hse Fenaamng Cgwenery, HES glenm, Carer oirs.
A:-Only i and iii
i LHmID iii (D
B:-Only ii and iv
i LHmILD iV (KD
C:-Only ii and iii
i pmLd iii LI (HLbd
D:-Only i and iv
i LOHMID iV L (HLDd
Correct Answer:- Option-B

Question33:-Which of the following statement is true about the Kerala State
Disaster Management Authority?

i. Itis a statutory non autonomous body.

ii. Governor is the Chairman.

iii. Chief Minister is the Chief Executive Officer.

iv. "Towards a safer state" is the motto.

Cayar bl Cufli Ceoreamean yamargamns UhPlw 1Gemeal b sgphmisetie eTg
2 _GTEnLD?

i @8 e slLfdwurer gememm & ey,



i, SEUTET] SENEEUT eI,
iii. psoeur semavend Hlfeurs Hami e,
iv. "umgismiumen wrblosams Crrad" erarug) GN&ECsmer.
A:-Only i and iv
i LOHDID IV L (HLDd
B:-Only i and iii
i LHmID iii (D
C:-Only i and ii
i LHMID i (LD
D:-Only iii and iv
iii omb iV L (b
Correct Answer:- Option-A

Question34:-Which of the following categories of land were exempted from ceiling
on holdings under the Kerala Land Reforms Act 19637

i. Kayal padasekarams of Kuttanad

ii. Commercial sites

iii. Private forests

iv. Plantations of coffee, tea, rubber, cocoa, cardamon etc.

Carer Hleod &8 (rSs5F &L 1b 196361 &1p SGHTEMID 6THS UM HlevmisEhsEaE,
2 FFeurbLiled @mHgl allevd@ efldsli’ L g)?
i LB iger s LT Casymisar
ii. cuenils sermiseT
iii. seflwry sr@Hger
iv. &mdl, Csulene, pluy, Car&Gsm, gassmi Cureammeimdlen CHTLL_BigeT.
A:-Only i and iv
i LODID IV L (HLD
B:-Only i and iii
i LHmID il (WD
C:-Only i and ii
i LHMID i (LD
D:-All of the above i, ii, iii and iv
CuGe 2 drer DyemansgIid i, ii, iii HmLD iv
Correct Answer:- Option-D

Question35:-Consider the following statement about the Kerala State Election
Commission:
i. Constituted under Article 243K and 243ZA of the Constitution.



ii. Appointed by the Governor.
iii. Conduct elections to state legislatures.
iv. Came into existence on 3rd December 1993.

Which of the following is/are correct?

Gayer bl CHT50 enamugbangls LD eareuHd iMGmEENUIS &e6L6T LBISET:
i orflueenliiber 6ild 243K wpmib 243ZA @lar E1p SmWSSILLL ).

i, < EpBrTe Hludssiul L euf.

iii. rble L baTnhISEEESE CHTH0 BLSFISE.

iv. 3 ig&buy 1993 @leb penL_(penmaE, eUbBSS).

Yetreu(meuemeLDded eTgI/cTaneu Fiflwimeng,?
A:-Only i, ii and iv

i, il O iV L (HID
B:-Only i, ii and iii

i, il omD iii I (HLbd
C:-Only i and ii

I HMID i L (HLD

Correct Answer:- Option-A

Question36:-Which of the following are correct regarding E-sevanam?
i. A centralized online service portal for all government departments.
ii. Owned by Kerala State IT Mission.

iii. Its mobile version is known as m-sevanam.

iv. It is Malayalam enabled.

@-Creuend CgrLjurs Werelmeuareumdled erg Fifluimeng?
i DAMETSG| TS gﬂmg)as@és@l_b 6(H LWILILHSSLILIL L 601606060 Gaenou
GumiLev.
ii. Garer wrble @ig Wlawen&EGF ClFTHSOTENS).
iii. @sem GQmenud LS erb-Caeued erem HP&ESLILIHS DS,
iv. @dlev weneowimerd GeudL(BSSLILILL G
A:-Only i, iii and iv
i, il HmID iV L (HDd
B:-Only i, ii and iii

i, il omLD iii I (HLbd



C:-Only ii and iii

i pmLd iii I (HLbd
D:-All of the above i, ii, iii and iv

CuGe 2 aTer DenarsgIid i, ii, iii HmID iV L (HLb
Correct Answer:- Option-D

Question37:-Consider the following statement about Navajeevan Project:
i  Implemented by the Labour Department of Kerala.
ii  Provides means of livelihood to those in the 50-65 age group who have
registered in the
employment exchange and could not find job.
iii Interest free loans to start self-employment ventures.
iv Individual income should not exceed 1.5 lakhs.

Which of the following statements are true?

Beugdeuen S L updw GemelHb SHEDSMUIE Seu6nL|hiGerT:

i Carermellen QgmHlemery sienmWITE 2 (heumssULL L g).

i CeuameveumiiliL] S@ieussdler Loy auig Coumae HlenL_ssmg 50-65
QUWGIHGL UL L e[S @H&E UTDEUTSTISES GULPMEIEHE MG

i swgme punSlsmers Tk el iquilber &LaTserT.

iv seflpuiy eumporeard 1.5 el s55nE Wamnd @)més Couem(hib.

GeTeu(HD FmDHMmISETd 6TEl 2 arentn?
A:-Only i and iv
I LOMID IV L (HILD
B:-Only i, ii and iii
I, il OmLD iii I (HLbd
C:-Only ii, iii, iv
(b ii, iii, iv
D:-All of the above i, ii, iii and iv
CuGe 2 6Ter DemasgIid i, ii, iii wHmD iV L (HLb
Correct Answer:- Option-B

Question38:-Pacinnian Corpuscles are concerned with
Cuélaflwerr smyLevdleTen FbLBSLILIL L el

A:-Touch reception
L& flOlgliagen



B:-Pressure reception
Curesy NGy

C:-Temperature reception
CLbursCay fOlFliage

D:-Pain reception
Cuuldler NOFIag e

Correct Answer:- Option-B

Question39:-The inability to absorb which vitamin causes Pernicious Anemia

oThg el L 0lerm 2 Mepabgeaneno @dens Quiflateicv Qrés Camansamw erhu(BdSEng?
A:-Vitamin C

emaul_L10er C
B:-Vitamin A

el _LtOer A

C:-Vitamin By,

oL _L_LOlGIT Bis

D:-Vitamin K

ameul_L_Lbler K
Correct Answer:- Option-C
Question40:-Which among the following disease(s) is/are caused by virus?
i Malaria
ii Dengue
iii Chickenpox
GemeumLd CHm 6eTg/eTeneu epeurenmed eFLI(h&lma?
i wCeflwm
i CLmeg
i &leamento
A:-Only i
i L (HD
B:-Only i and ii
i HMID i I (HLD
C:-All the above i, ii and iii
CoGev 2_6Ter DenerggILd i, ii HmILD iil

D:-Only ii and iii



i LHmID iii L (LD
Correct Answer:- Option-D
Question41:-The Ozone layer provides protection against
@Carer UL TN @ T rms LMgsmieamL euphi@&GSng?
A:-Ultraviolet radiation
LD 2argm sdljeisa
B:-Infrared radiation
SjsFfleulil sdieisa
C:-Gamma rays
STOM Sl Ta6T
D:-Acid rain
<l enLp
Correct Answer:- Option-A

Question42:-The Nobel Prize in Physiology/Medicine 2023 was awarded for the
discovery on:

2023 <ylb Y er(hssmear o Ladlwe/wmsgeusSnarear G Lfle MerelmLw
sar(hH9g LG Dens eupmISLILILL g
A:-Development of effective mRNA vaccine against COVID-19
Caralll-195@s, erdlyms Lwayarer MRNA sHULSenw cuerjslwenw Cguiged
B:-Ancient DNA and human evolution
LiGiTenL_W 1q 666l LMMILD aTlg LiflewTmiob
C:-Identification of a novel Hepatitis C virus
Crmeued ablLigl igev C eneurenevsd Serl_Hlge
D:-Cancer therapy by inhibition of negative immune regulation
erdlrwenm CrrwsliliL eur@rpanamwus sHLiugen cpabd LHnChTl HdFams
Correct Answer:- Option-A

Question43:-Which of the following phenomenon is not exhibited by sound waves?
Gemeumid Blspe|safler ergl eadl amasermd CleualiL(SsLILLaSldena?

A:-refraction
eafleflevadd

B:-polarization
GIQRIBIRICF: Ty
C:-diffraction



L
D:-interference
GIEE0
Correct Answer:- Option-B

Question44:-Mass of an object on earth is 10 kg. What will be its weight on moon?
slufled 2 arer e Qummafler Blenm 10 &Geom. shdlrefler iFem eTenl cTeLaU6TETS

QIGEIChY

A:-98 N
98 N

B:-588 N
588 N

C:-less than 20 N
20 N @b Ge»DHeUTEIS)
D:-no weight
GTEML @QLemev
Correct Answer:- Option-C
Question45:-Which of the following statement is correct?
YereumLd nmmisefled org) Filwimeng,?
A:-X-rays have higher frequency than radio waves
CrgCum emesemer el créev-sd THeT iHla oiHliTtleusm Clsmeam e
B:-Visible light has higher energy than ultraviolet rays
Heoouu®b eellwunearg Up cagr sdlisamer el oiHls o,nme GlemewTL_g)
C:-Microwaves have shorter wavelength than infrared rays

HlaTameaner &6t Ss&slalliL] sHlisamer el @ammaelrear emaBerd C&smeaT e

D:-Entire electromagnetic spectrum has same energy but different
wavelengths

wpp Wersmbg Hlnwrane @Cr <,mned e CeucuGoun Semabernigamar
Csrer(heTerg)
Correct Answer:- Option-A

Question46:-The Reusable Launch Vehicle (RLV LEX-03) landing experiment was
conducted by ISRO on June 23, 2024 by releasing the vehicle at what altitude?

2024 5396 23 Sjanm) eThg 2 LTSS aunsansang allHediLgen epeold mLiweTTL(H
geysanan eumsard (RLV LEX-03) sepruimmi@nd uflGersanarenw @evGrm pLsHluig?

A:-14.5 km
14.5 4.8



B:-41.5 km
41.5 4.8

C:-4.5 km
4.5 £.8

D:-1.45 km
1.45 &..5

Correct Answer:- Option-C

Question47:-The temperature at which a real gas obeys ideal gas laws over a wide
range of pressure is

6(Ih 2_ETENLOWITET QUM 6(ThH LITHS jeTellemer S(psssdler Sphs eumy alld&enas
Eplitigubd Geutiubleney
A:-Critical Pressure
@pm&sgwrer (Critical) ©ipssb
B:-Boyle Temperature
umudled Geuiublene
C:-Inversion Temperature
g8 CeuliLiblena
D:-Reduced Temperature
G@nasLinl L elliublene
Correct Answer:- Option-B

Question48:-Complexes of which of the following metals are used in the treatment
of rheumatoid arthritis?

Yereu(md et 2 Geonsmiseien SameUser (PL&E eurg FdlFamaude
vwerL (hgsLIL (HEl emmen?
A:-Gold
ShIGLD
B:-Ruthenium
HSCaailwib
C:-lron
QIGIE
D:-Copper
Ol&ibLy
Correct Answer:- Option-A

Question49:-Which is the element present in the biomolecule carbonic anhydrase?



o 197 epvssam sTrCUafls ojemanant Credlé o drer el erg)?

A:-Fe
Fe

B:-Zn
Zn

C:-Co
Co

D:-Mn
Mn

Correct Answer:- Option-B
Question50:-Who is the present Solicitor General of India in 20247
20240 @pdlumeiler sHCumangws Camellsli L Clenemryed wimy?
A:-Indira Jaisingh
@ndlrm sk
B:-R. Venkataramani
7. QleumigL Foewh
C:-Tushar Mehta
glagmy Cggm
D:-Chanderkishan Daphtary
FhsFSlager Lmligmil
Correct Answer:- Option-C

Question51:-A fruit seller is selling apple at the rate Rs. 240/- per kilogram, with a
profit of 60%. What is the actual cost of one kilogram of apple?

@ UL aflpuamernuirery <plilener op. 240/- e HGameysa@ elldm, 60% eoruld

S Spmy, liqumenme e HGam <y, lider upsdler o arebwirear allene cTemer?
A:-144

144

B:-150
150

C:-160
160

D:-180
180

Correct Answer:- Option-B

Question52:-A person who sells milk used to add water, and he is now having 60
litres of milk with 15% of water. How much milk to be added to make the water
content to 10% in the new mixture?



Limed 6@ e(meuT L6 samanianrd Carsgs Camerar, SjeuflLib @UGurg 15%
gewrant e 60 L LT 2 drergl. LHw soeneuuld geranty 10% <18 @)(H&s
ereualare] Ume Carses Colamt(Hib?
A:-15 litres
15 &0l Liy
B:-20 litres
20 iy
C:-25 litres
25 iy
D:-30 litres
30 Sy

Correct Answer:- Option-D

Question53:-A particular work can be completed by 10 men or 15 women, in 24
days. In how many days the same work can be completed by a team of 4 men and
9 women?

@ GOUEL L Ceuamevenws 10 <y arser jvevg 15 Cluamser 24 prlsaefled Clguig

WPlg&sMD. 4 eser wHmbd 9 Cueamser e @ peume HCH Ceuenaanil eTdgeamen

BT &6 (1Plg&E (LpigLid?

A:-24
24

B:-30
30

C:-36
36

D:-None of these
@emal eTgla|bd @ema
Correct Answer:- Option-A

Question54:-The third term and the tenth term of an arithmetic progression are 11
and 60 respectively. What is its 13th term?

Q(h TTEHMTG Fal (HGOsTensullen epempreug OHMID LssTeugl eranr penmGu 11 mhmib

60 <@Ww. SFer 136ug) erewnr 6reme ?

A:-74
74

B:-77
77

C:-81

81



D:-84
84

Correct Answer:- Option-C

Question55:-Mr. Amal Joseph took a loan of Rs. 4.25 lakhs for two years with simple
interest at the rate of 6.7% per annum. The total amount of interest that he has to
pay at the end of two years is 68% of his monthly salary. What is his monthly
salary?

8. 2iwed Corals yarhsa@ 6.7% eremm ellflgsdle eraflu el iqujL_er G remr(h
2AET(HEHEHEG . 4.25 &b curidl sLem eummiGdEnmy. Qe eumLhigeaflen (wpigeied
e dess Cauamig s Gbrss aullpd Csmans Seurg LIsEF FbLESH L 68% <,@Lb.
S|EU(HENL_UI LDITE FLDLIGTLD GTEIT60T ¢

A:-Rs. 83750/-
em. 83750/-

B:-Rs. 92500/-
em. 92500/-

C:-Rs. 86500/
em. 86500/-

D:-Rs. 91650/-
em. 91650/-

Correct Answer:- Option-A

Question56:-In a certain code FRIEND is written as ETHGMF. Which of the following
stands for LOVER in the same code?

@MU L @dlui g FRIEND ereirigy ETHGMF erew er(psLlinil_(Hereng).

Getreu(Heuareupiled ergl HGs @GMuiliqed LOVER ereimuiangsd @MlsSma?
A:-NPXFT

NPXFT

B:-KPUFQ
KPUFQ

C:-KMUCQ
KMUCQ

D:-KQUGQ
KQUGQ

Correct Answer:- Option-D
Question57:-Find the next number in the sequence 0, 4, 18, 48, 100, ?
0, 4, 18, 48, 100, erenmp cuflenguiley A(H&S eTewTENETS HevrL_HlUieLd?

A:-148
148

B:-180



180

C:-184
184

D:-170
170

Correct Answer:- Option-B

Question58:-Geethu was asked how many books she had in her bag. She replied
that there were all fictions but six, all general knowledge books but three and all
novels but five. How many books had

she in all?

Egiellen evLILAGD GTHSMEN LGS mIGET 2 drerer erem GCalslilil L g). 6TedaTL! LeneiEeSaeT
DETED M, TOOT QUTE DG LSSHBISET &M PN LOHMILD GTEATLD [BITELGOSHET

SLETTED BHGI T HeU6T LSloveTSSmeT. Crgsns jeuatl LD TESSHMEN L|SSSbIS6T

Qmbge?

A:-14
14

B:-11
11

C:-7
7

D:-None of these
@eal eTgla|b @dema
Correct Answer:- Option-C

Question59:-How many days will be there from the Republic Day of 2016 to the
Independence Day of 2016 both days)?

2016 @urwrs Hagdembg 2016 sgpdlr ded cueny (@Qrew(H BTLEET 2 L' LIL) eTEHSHener
BTL_&6T @) (H&HGLD?

A:-202
202

B:-203
203

C:-204
204

D:-201
201

Correct Answer:- Option-B

Question60:-In a family of five members, P is the sister of Q whose father is S. If the
wife of S is T whose only son R has two sisters, then identify how is Q related to T?

shgl 2 niliberisamerds Gamear e &HbusSle, P eramug Q aller sCargifl, ojeumenw



shang S. S @ler enerell T eremmmed jeumen_w G waear R @rewr(h sCargflesamend
Qamearrmé, T 2 e Q ereuoumm GETLFLenL Wel] eTemiengd SHer_Hlwe|b?
A:-Mother
SILDLDIT
B:-Sister
sCargil
C:-Son

LD& 60T

D:-Daughter

LD& 6T

Correct Answer:- Option-D
Question61:-A place where animals are butchered is called
A:-arena
B:-abattoir
C:-menagerie
D:-tannery
Correct Answer:- Option-B
Question62:-When | arrived at the office, the meeting
A:-began
B:-begin
C:-had begun
D:-will begin
Correct Answer:- Option-C
Question63:-Which of the following is correctly spelt?
A:-laison
B:-layson
C:-liaison
D:-leison
Correct Answer:- Option-C
Question64:- everyday improves my stamina.
A:-running
B:-to run
C:-being run
D:-having run

Correct Answer:- Option-A



Question65:-They used to live in New York, ?
A:-aren't they?
B:-don't they?
C:-weren't they?
D:-didn't they?
Correct Answer:- Option-D
Question66:-What is the passive form of : Obey your parents?
A:-Let your parents be obeyed.
B:-Parents must be obeyed.
C:-Your parents ought to be obeyed.
D:-Parents of yours should be obeyed.
Correct Answer:- Option-A
Question67:-He always his homework before going to bed.
A:-puts off
B:-puts up
C:-put out
D:-put away
Correct Answer:- Option-A

Question68:-When | was younger, | was a swimmer than anyone in my

school.
A:-good
B:-best
C:-better
D:-more good
Correct Answer:- Option-C

Question69:-Even though Tina was angry, she decided to
anything hurtful.

A:-break a leg
B:-jump the gun
C:-keep your chin up
D:-bite your tongue
Correct Answer:- Option-D
Question70:-The plural form of the word 'cactus' is
A:-cactuses
B:-cactus
C:-cacti

and not say



D:-cactu

Correct Answer:- Option-C
Question71:-sia1 cuflevaliug Qerpaener &7 GlFwis
A:-A. wrewer B. uewear C. cuewew D. oenew
B:-A. wmewerr B. auemed C. uener D. wenew
C:-A. uewerr B. wewe C. cuener D. wmenest

D:-A. uewer B. v C. wmener D. cuenev
Correct Answer:- Option-D
Question72:-wryl Ve omm Csrenrs GOl Hs.
A-LDr - B5GILD
B:-prm - miE0
C:-ypr - jemIb
D:-ymrm - o&a b
Correct Answer:- Option-B

Question73:-gymidlews grdwause Hlarmean sulpsbaraame Caiey Calis.
Short Vowels -

A:-2 197 eT(pSgISSET

B:-Qlout er(psgisser

C:-@Mle er(pSgI&s6T

D:-Qpiq6 6T(pdgisaaT

Correct Answer:- Option-C
Question74:-Qunmpsns CFmeorenasd SeamMliia,Lb.

A:-wrewilégn

B:-(p5g

C:-ueuerid

D:-Slaflepae

Correct Answer:- Option-A



Question75:-Caulpld : @snarer sflwumears Qurmeners Core| Cauis.
A:-gdHlany
B:-wrenesr
C:-ua
D:-pmi
Correct Answer:- Option-B
Question76:-pren@ + Bl = ereueurm @enemTub?
A:-prem, B
B:-prer@l
C:-premmifl

D:-prglmmen,

Correct Answer:- Option-C

Question77:-Art is long and life is short @sm@ Qenawrwimen SLOH LIPGLTHWIS Fomis
A:-ge06ll senrulle, sHLGT BreT Fa
B:-srevgdnCasnm Csmalbd
C:-arpmierer CurGg gnhml&6lasmer

D:-GQaummiens wppdb Cummiom
Correct Answer:- Option-A

Question78:-Ggmdenevls CummCerm(h Cum(mSgs

a. eueTliLy 1. sr(
b. <L 2. USSHLD
C. LO(HaIE, 3. @eflenw
d. g 4. 2pG
A-a b c d
1 2 3 4
B-a b c d
3 2 1 4
C-a b cd



Di-a b c d
2 1 4 3

Correct Answer:- Option-C
Question79:-ergiemnsg Gemhasamers CoIHOSHESS
'‘pund Hmellenarums@d pwhblerents'

A:-pwupdl - Fmellenen
B:-pwpél - ,&@0
C:-,5@ WD - Fmallanen

D:-pwné - wpwumdleento
Correct Answer:- Option-D

Question80:-QuwFEtlameiler euamswms - Hane
A:-Qumm L Gluwry
B:-flener Gy
C:-QamAn Gy

D:-@emriCuwiy
Correct Answer:- Option-B

Question81:-Which of the undermentioned statement is wrong with regard to the
jurisdiction of Excise inspector under Abkari Act?
i. Excise Inspector appointed at Excise check post has jurisdiction through out the
range in

which the check post is situated.
ii. The Excise Inspector appointed at Excise Circle Office has jurisdiction through
out the

taluk in which the Circle Office is situated.
iii. The Excise Inspector of Excise Enforcement and Anti Narcotic Special Squad is
having

Jurisdiction through out the revenue district in which the office situated.

Slisrfl sl Lgdlen S eréemaav @emevEusL T dsmy eupbiie SCp @OIuL Hierer
SMGmsUlled Heupmeng)?
i.  som Carsameand smeulguiled BlubssLl L some <y lieurery Camgeanend
FTGUlG DELOHFIGTET GTLEME (LP(LPEIGILD SIS cUTDENLISE Gl TasT(HeTerTy.
i, semrd eul L S@leuessdled BUOISSILLL SO LUIGUTETT el L @IS
SMLDBGIETET LTIl L (LPLPEUGID AFH ST eUFdenLI& Ol&mesT(heTer Ty

iii. semed @jerss HMD Curaslitummer ShHLL ol 9flefer sevmed



SLUIGUTET ADIEUDEHD SELDBSIETET GU(HEUMTUI LOTEIL L LD (P(LPeUGILD HSET]

curbeoLl ClEmeaT(heTermi.

A:-i only
i w_(hb
B:-i, ii and iii

I, il oD iii I (HLbd

C:-ii and iii only
i pmiLd iii L (HLbd

D:-None of the above
CwGe ergla|b @eene

Correct Answer:- Option-A

Question82:-Land holders and others has to give information in connection with any
manufacture of liquor or intoxicating drugs, not licensed under the act to -

i. Magistrate

ii. Abkari Officer

iii. Officer of Land Revenue

iv. Narcotic Control Bureau

Bleold eneusSl(mHLrielfs@pD DD, s L gdler eﬁl_og 2 flod CUPTS, WHUMTETD DG
CurensliGummer Swmfliing QT FUTeT s&euosmer jailsEs GCeuem(HLb.
i.  wralevdCri
i, osmf e
iii. Ble eumeums $lsmil
iv. Cumenslibummer sL(Hirum(h LemflwusLd
A:-Only i and iv
I LOMID IV L (HLD
B:-Only i and ii
i LHMID i L (HLD
C:-All the above
CohsSemL DmaTsgID
D:-Only i, ii and iii
i, il omLd iii I (HLbd
Correct Answer:- Option-D

Question83:-The quantum of fine that can be imposed by the excise inspector to an
offender who has committed an offence of smoking in public place under the COTPA
Act shall not exceed -

i. Rs.100/-



ii. Rs.200/-
iii. Rs. 400/-
iv. Rs. 500/-

COTPA sl Lgdler S1p Qung QL s HenslGg s GDHnSmss Celis @nneureilsd@ sewme
Suieumerymed edl$l&sIL(HID SUFTSLD 5@ AFHOME @) (HESHEFL TG -
i. em. 100/-
ii. em. 200/-
iii. em. 400/-
iv. em. 500/-
A:-i and ii only
i LHMID i L (HLD
B:-All the above
CuCe 2 dTer enarsgIb
C:-i only
i (LD
D:-ii only
ii L (Hb
Correct Answer:- Option-D

Question84:-The immediate official superior of Excise Inspector in the Hierarchical
row prevailing in Excise Department is -

i. Circle Inspector of Excise

ii. Manager of Excise Division Office

iii. Superintendent of EHQ

iv. Administrative Officer of EHQ

seora gienmudle Hleve|b Ligblena euflenguded Gemed puieimearflen o Lemlq HSETrLTeu
Cuedlsmfl -

. ST GUL L < UIGUTETI

ii. serd Wfle] AeiwssHer Coamary

iii. EHQ @eir sewrsmentliLimery

iv. EHQ Qe Blfeuns ilsmil

A:-iv only
iv ol (Hd
B:-i, ii and iii

I, i HDID i (KD
C:-ii and iv only
i LHmID IV L (HLd



D:-All the above
CuGe 2 6TeT DenarsgID
Correct Answer:- Option-B

Question85:-Which of the following statements are true in the case of Abkari
Inspectors under Abkari Act?
i. Abkari Inspector means an officer appointed under 4(d) of Abkari Act.
ii. The Excise Inspector appointed in the Range offices shall have all the powers of
Abkari

Inspector as per Abkari Act.
iii. All the officers in the Excise Department of and above the rank of Excise
Inspectors were

vested with the powers of Abkari Inspector.

Slisrfl sl Lgdlen S1p L1sMfl @emevCusLFser efleusmrgde Mereub sFmpmsafc eTg

2 _GHTENLD?

i SUusmfl Qemev6usSLf eTerugl Lismfl &L gdlen 4(d) e SQ;IC_Q Bludgsiur
S Ssmil.

i, usmfl #_L0ug Crepd Sigieuasmnsailc HlublEsIuBID ST ,uielTerTy
SUSTH @lemenCUSLflen HMETSH HSHSTIRISMETULD Cl&TemTiy (HéHs
Gouer(hb.

iii. seme FapPUlld 2 6Ter NS S STHSHEHLD, HEOMeD D UIEUTET)

L5615@ Ge glemmuiled o 6TereursEna@ <LSTHl @) emen ol ifler
DS STIRISET GULPBISLILIL L 6.
A:-i and ii only
i LHMID i L (HLD
B:-All the above
CoGev 2_6Ter enersg)Ld
C:-ii and iii only
i LHmID iii L (LD
D:-None of the above
CuGe ergla b @erene
Correct Answer:- Option-B

Question86:-"Abkari Inspectors were appointed by exercising the powers under
section 4(d) of Abkari Act and they can perform the acts and duties entrusted by
the Abkari Act". Which of the undermentioned sections corresponds to the duties
and powers described in Section 4(d)?

"ilismfl el gdler Afley 4(d) Qe S o drer SFSMTrmIGmeT LILETL(HSSIEUSET LPELD

SUsTH peumeriger HluEsIuL L ey, CIb ieUF&seT USTH FLL&gmeD



ULLSsILL L CFwdsamenb sLenwsamerd Cgiiw apigub”. Wifley 4(d) G
efleuf&EULIL (HETaTar. SLanGET wHNID AHSsTrmsErs@ E6 @MUl iul Hidrer
fleysetlcy erg QUTmBSISMS?
A:-Section 40 to 52
9fley 40 wpsed 52 cueny
B:-Section 40 to 53 (both inclusive)
9fley 40 1psed 53 eueny (Qram(Hbd 2 6TeTL_HIGLW)
C:-Section 40 to 53 (both exclusive)
9fley 40 1psed 53 euany (Qrar(Hid 7SS CusTeng))
D:-None of the above
GG ergla b @eene
Correct Answer:- Option-B

Question87:-The Powers of Excise Inspectors extends to perform all the duties in
respect of issue of special permits under section 11 of Abkari Act. Here section 11
deals with -

stisrfl el Lgdlen 9fley 11 Qe S1p AmLiLy Senind) cuphi@Geug CSTLTLTET ieneisg)
SLen&meTD QFiw samed < lieurarjsailer Samrmsear Bliqssiiul’ (Hararer. @QmiGs
9fley 11 evswnerdlmg,) -
A:-Import Permit
@oGumrl LWl
B:-Transport Permit
g rerevGLImFL LfLdll
C:-Transit Permit
g eI LIFLOlL
D:-None of the above
CwGe ergla|b @eene
Correct Answer:- Option-B
Question88:-Transport under Abkari Act means and includes -
Slisrfl sl Lgdlen S1p CLTEGUTSE eTermLg)l HMILD 2 6T _sdlwig) -
A:-To move from one place to another within the state
wIHlsEDEE @6 QLsdampg LHUAPTH QLsdbEs tadaug

B:-To move from one place in a state to another place in that state or to any
other state through the territory of the state of Kerala

@M LTHSSDGET ¢ QLSS QHHE 2bg Wwrblogsle 2 arar LHLDTH QL-GSDE



Slegl Cayer wrbleogdler eufluims Caim erbg BlosSnHE@GHn CFde
C:-To bring into the State

rHlesdna@ Clsmerh ey
D:-None of the above

CuGe ergla|b @erene
Correct Answer:- Option-A

Question89:-Which section of the Abkari Act authorizes officers to inspect licensed
premises?

2 fliod QuHD cueTTasBIGMET 16| CFIL AU STHSERES LSTH FLGdlem eThHL

9fley oHamrd eflsdng?

A:-40
40

B:-31
31

C:-32
32

D:-35
35

Correct Answer:- Option-C

Question90:-Which officer of the Excise Department duly appointed to control the
Brewery?

gIEHMLW SLHLLHSS S gapuiler eThs AFsmfl (peppwins Hlublssli’ L my?
A:-Circle Inspector of Excise
ST QUL <} UIGTETI
B:-Surveying Officer
Bleo emenet gl
C:-Distillery Officer
lg-avig DOIfl sl
D:-Assistant Excise Commissioner
2 56 HOTED T

Correct Answer:- Option-B
Question91:-Following officers who are authorized to inspect the Wineries?
Yereumd Fsmilsailer euilen o amesamer e Celiw dsrrn Cubpeury?
A:-All officers of the Excise Department
SO glanmuilerm AeneTSg NS STilgERLD

B:-All officers of the Excise Department of and above the rank of Excise



Inspectors
SOTE FIMDUIAGT HMMSHF AN FSHET HMILD ST Y Ulemery LGell&E Goed
o _GTETEUT&HET
C:-All officers of the Central Excise
SHW Hovmed alfludler emaTsg NS sTilsEhLd

D:-All officers of the Police Department of and above the rank of Sub
Inspectors

STeU6 FMDUI6T DMATSF DANIGUDFTSHET HMID F1 @)emen6l LS F&H6T SrESHM @ G
O _GITEITEU &6

Correct Answer:- Option-B
Question92:-Which of the following statements is correct about Abkari Officer?
SUsTH Siglsmflepwis updlw Gemeumd smpmisete ergl FFlwimerg)?

A:-The Commissioner of Excise or any officer or other person lawfully
appointed or invested with powers under Sections 4 or 5 of the Abkari Act 1 of 1077

ST AT g FCHeID DHlamil Deveg 1077 Qe SjLismfl sL1b 1 @6
96y 4 Sevevg 5 Qe S FL Uiy feunrs HluBlSSULL L SDeF S S TS EHL 6
Wged(H QEwiul L 19 puF

B:-An Officer appointed under Section 5 A of the Abkari Act 1 of 1077
1077 en ojisrfl b 1 196y 5 A @er S1p Hludlssliiul L e SiHamf

C:-The Officer appointed by the Government under Section 3(4) of the Abkari
Act 1 of 1077

107761 oiusmfl s le Gfley 3(4)er eﬁ@ SATEMBIGSST BlblGslLLT L glsmf
D:-None of the above

GG ergla b @eene
Correct Answer:- Option-A

Question93:-Under which section of the Abkari Act, Abkari Inspector may summon
persons suspected of offenses against Abkari Laws?

Slisrfl sl Lgdlen erpsll Aflellen S, LISTH L RISEHEHSE TS TTEm GDDhRIGET cTenm)

shCgHEHILMHD BLTSMET HUISMT @)emen 6l LIS T <,enenTudlL_eomb?

A:-50
50

B:-46
46

C:-51
51

D:-48

48



Correct Answer:- Option-D
Question94:-Who among the following is not an Abkari Officer?
Epsaaroufsafley wmy s Sifamfl side?

A:-Sub Inspector of Police
&1 @G LISL T oLt GLImede

B:-Drug Inspector
1978 <, UIGUTETI

C:-Excise Inspector
ST < UIGUTEITI

D:-Deputy Collector of the Revenue Department
QUHEUMIS Glenm FIenewT <L Slwiiy

Correct Answer:- Option-B

Question95:-Who is designated as the Head of the District Unit of Excise
Intelligence and Investigation Bureau?

S Hawrentdle] LHMID Ljoermie|l Laflugssler wrell L L Wifleder sameaoulrms
BluslssUul el wmy?
A:-Excise Inspector

HEVITE <, UIGUTETIT

B:-Assistant Excise Commissioner

2 56 HEOTED 6T}
C:-Intelligence Officer

2 GTe|SEHIMD AL S
D:-Deputy Excise Commissioner

SIHET HEVITCD 4,6 00T UL [T

Correct Answer:- Option-A

Question96:-Which of the following statements correctly describes the Excise

Enforcement and Anti Narcotic Special Squad?

i. Detect and take legal action against the collection, marketing, trafficking and
consumption of illegal liquor/drugs in the district.

ii. Investigate NDPS cases and take further action.

iii. The Deputy Commissioner of Excise serves as the Head of the Office of Excise
Enforcement and Anti Narcotic Special Squad.

iv. Register the detected Abkari cases in the concerned Range Offices.

Geeu(mHLd eTHS DDSMSLTETG HOMD LDOTESHD wHMID CumengiClummer erdlliLy
Spligd uevLenw sfluns elleuflsSng)?
i Cesflly, sbensliL(S53I50, LS50 ASHE THITS FLL BL GG &SNS



T(H&saD, sar(Hllgss6|b WwHNID wreul L s alCrms wg) /
Cureng UM mHET HIST6.
ii. NDPS aups@smer ellgmflsg Gl BLallg&ans 6f(H&HeLb.
iii. semed @erss HMD Curasll umrmer shHLiL Al Wifleflen
SDICUDESHSH 6T HEMEEUTTSH ST FIGNEWT <,enETW T Liswtwmhmidlmmy.
iv. serLPlwiul L SUsT)l eup&@&GHeneT FDLBSLILIL L eUFLDL] )& BIS6T 6
udle] Geliwe]w.
A:-All of the above

CuGe 2 6TeT DenarsgID

B:-i and ii
i LHMID i (LD
C:-i, iiand iv

i, il O iV L (HID

Correct Answer:- Option-C

Question97:-Which section of the NDPS Act exempts addicts who volunteer for
treatment from prosecution?

NDPS sl L_gdlen eribsli ifley, senamious Csram( Calig) SdlFengd s GrmendlsEagen
aUP&S(HHg allevd@ 2efssng?

A:-64 A
64 o

B:-30
30

C:-27
27

D:-64
64

Correct Answer:- Option-A

Question98:-The name of the Anti-drug awareness drive of Kerala State Lahari
Varjana Mission formed in 2016.

2016 Geb 2 eumssLiLL L Gayer bl eamfl eufsmerT Wadlafler CLrengiCummer
erdl iy el emriey @uissssler Cluwy.
A:-Kaval

HTEUG



B:-Karuthal
&(HSE
C:-Kavacham
HOUFFLD
D:-Vimukthi
aflapssl
Correct Answer:- Option-D

Question99:-Whoever knowingly or intentionally conceals, destroys or alters or
intentionally or knowingly causes another to conceal, destroy or alter any computer
source code used for a computer, computer programme, computer system or
computer network, when the computer source code is required to be kept or
maintained by law for the time being in force, shall be punishable with
imprisonment up to -

seanflefl, santlafl By, samflal jamwiiL Sjdag santal bl GCeuryésnEL
LwetuhssLL@D saflafl epesd @GMuit e, saflaf epad @GHuih ComeuliLiBbGuLrg,
CsNBECET Dvevg CouamhElweamCn wennECsT, AHWPSCEHT Sag LIHHlLmLECSHT
Slevgl GCouar(hGlwerGCn eag CsfBECsT wHmeumT WaDsEECam, DPGE5CaT g
wrHpCGeur Cgwiey. SHELTEMNSHESE Sl QMGG FLLSHTO MeUssLILI(HLD HOF
ugmoflssiine Cauam(Hb, @& Uy Fannss e _aTL 6T Seamg sl (D -

A:-one year, with fine which may extend upto one lakh rupees, or with both.
(H QU(BLLD, SUTTSSFIL 6 6@(Th L&D eHLIM cueny Bl g &58dm1q W Sjebeg) @) Fesr(H
Carsgl.

B:-two years, with fine which may extend upto one lakh rupees, or with both.
@r,r@fm@ 26T (HN&ET, HUTTSSHIL 6O 6(Th L&D AHLITII QUEDIT ﬁl'_Lq_ésasésahlq_u_l D{DVEG)
@rear(hib Carss).

C:-three years, or with fine which may extend upto two lakh rupees, or with
both.

eLPEITM DT (HSET g @TeT(H L &b LT eueny BL 14555819 SLTTHD DS
@rar (i Carss).

D:-four years, with fine which may extend upto two lakh rupees, or with both.
BTEE AT (NEET, ALTTSSEIL 60T @rer(h L &b eHUm cuan BL ¢ EE&Im gLl SHOOG
@rarhin Carss).

Correct Answer:- Option-C

Question100:-What is the punishment for dishonestly receiving stolen computer
resource or communication device?



Sl L sewflafl cuerd Sjdeg ssald CsTLy srgagamg Crrenwhm penmudley
QUDICUSDHE CTCTE SeHTL_GDENT ?

A:-Imprisonment for a term which may extend to three years or with fine which
may extend to
rupees one lakh or with both.

eLpETm) T (HSET cueny BLllq S&5ddnlq L FaDSSEHTL G DDV (1 L FD EHLIMTL GUETT
BLg &&Fn1q W SUTTHD D0 QTarr(HLb.

B:-Imprisonment of either description for a term which may extend to two
years or with fine which may extend to rupees one lakh or with both.

QreT () < eT(H&eT auany B g E&SamI W @ (F STesHDaTar allarsssH e Henmssam_aner
DD (1 OLFD eHUML UMY BHLIq SHElq Ul SLITTSD Se0evg) @) FeuT(HLD.

C:-Imprisonment of either description for a term which may extend to one year
or with fine which may extend to rupees two lakh or with both.

@ UL aueny B4 E65dm1qW (F sTesSDaTer ellerdsssHlem Hennssam_amen ieag
@resT(H lFb epuml eueny Bl g &5ddnlq L SLTTHLD AHODE @) rarr(Hib.

D:-Imprisonment of either description for a term which may extend to six
months or with fine which may extend to rupees one lakh or with both.

S OTGBEISET cUnT BL g S5 lq Ul 6 STSEDSTarn ellaTsasd e &enmdseTLene
DDV (1 OLFD EHUML cUT BHLIq S&HEnlq Ul SLITTSD Se0evg) @) FeuT(HLd.

Correct Answer:- Option-A



